(1.36)
(m+1) K
K™ (1.39)

K™ =K™+AK

AK =[Acy Acy, Acy]’

(m+1) e(km™t) K™ 1
o (k)= (k) 22K s
11
m
+5eia£K )(Clrgﬂ_c{g)
12
) ()
13
(1.41) (1.34) (L.35)
roe (k™) 1 ag (k™)
acy, __H acy, - M
aei(Km)__ 1 6qi(Km)__W
oy, \/a oc, 2
ce (k™) 1 aq(Km)__W
\ ac, \/a oc,
(1.42) (1.41)

€ (K mﬂ): € (K m)— Wip ACjy — Wi, AC, — W3 ACy;

=E-WAK (i=12,...,,N)

(1.37)

K
K m+1 m
AK
(1.39)
(1.40)
Taylor
(1.41)
(1.42)
(1.43)



W= (1.44)

m+1

Ac, | |ci —ch
AK AC_I.Z = (:ll'ngl —_ C_I_rTZ]
Atz | |cit-cf

E (N x1) W
(N x 3) AK (3x1)
(1.36) K M+l K

I\£I|i<nJ(K)
= Z {ei (K m) — Wip ACy — Wip ACy, — WiBAC13}2
=(E-WAK)"(E-W AK) (1.45)

= [ET E]_ Z(AK)T MT E]+ (AK)T MTW](AK)

(1.45)
2€§E;:_ZMTE]+ZB’VTW] AK =0 (1.46)
(1.46) AK
A (1.47)
(1.47) aK |
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AK /K ™|

AK

(

0.001 o0.01

11

)

Cholesky

AK





